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1. The solution of v19 lies between

(i) 3and 4 (ii) 6and 7 (iii) 4and5 (iv) 2and 3 (v) 5and6

2. The solution of v20 lies between

(i) 4.2 and 4.3 (ii) 4.4 and 4.5 (iii) 4.5and 4.6 (iv) 4.6 and 4.7 (v) 4.3and 4.4

3. The solution of V18 lies between

(i) 4.25and 4.26 (ii) 4.24 and 4.25 (iii) 4.23 and 4.24 (iv) 4.22 and 4.23 (v) 4.26 and 4.27

4. The solution of v2 lies between

(i) 1.415and 1.416 (ii) 1.414 and 1.415 (iii) 1.413 and 1.414 (iv) 1.416 and 1.417 (v) 1.412 and 1.413

5. The solution of v6 lies between

(i) 2.4494 and 2.4495 (ii) 2.4496 and 2.4497 (iii) 2.4493 and 2.4494 (iv) 2.4495 and 2.4496
(v) 2.4492 and 2.4493

6. The solution of v19 lies between

(i) 5and6 (ii) 2and 3 (iii) 6and 7 (iv) 3and4 (v) 4and5

7. The solution of v10 lies between

(i) 3.0and 3.1 (ii) 3.2 and 3.3 (iii)) 3.3 and 3.4 (iv) 3.1and 3.2 (v) 2.9 and 3.0

8. The solution of v18 lies between

(i) 4.22 and 4.23 (ii) 4.24 and 4.25 (iii)) 4.26 and 4.27 (iv) 4.23 and 4.24 (v) 4.25 and 4.26

9. The solution of v15 lies between

(i) 3.871 and 3.872 (ii) 3.870 and 3.871 (iii) 3.872 and 3.873 (iv) 3.874 and 3.875 (v) 3.873 and 3.874

10. The solution of v12 lies between

(i) 3.4641 and 3.4642 (ii) 3.4642 and 3.4643 (iii) 3.4640 and 3.4641 (iv) 3.4639 and 3.4640
(v) 3.4643 and 3.4644
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